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136
141
148
154
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170
180
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203
214
228
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741
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2222
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1 266
2 407
3 555
4 709
5 872
6 1.042103

t={7 1.222°103
8 1.412°103
9 1.615°103
10| 1.829-103
11| 2.057-103
12| 2.304°103
13| 2.571-103
14| 2.861:103
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At =

0 130
1 136
2 141
3 148
4 154
5 163
6 170
7 180
8 190
9 203
10 214
11 228
12 247
13 267
14 290
15
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Toz 3.661 x 10
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A= —
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= 2731 x 10

a:=0.1

N
2~(N,\—l)
X-qechisg{ 1- 22N
- qchisq _25’ 0

2~(N0—1)
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An = qchlsq(z,z . No)

AB =

An = 0.0001990345 A=2731x10 4

Tn = 2.622 x 103 T0 = 3.661 x 103

1x10* 1.5%10* 2x10*
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Tn:= —
B

s = 3.815% 10 qehisq1 - 01,2 No) = 65.422

Ts = 5.024 x 103






